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A B C D E F
BEANEE : 0.018mg/L 5
[E¥# : 0.01mg/LELTF]
3 | smRUzOLAN
o Eé%%% A
mg/L
ES |E5-8| GL-2.0 0.018
F5 |F5-1| %% £-2.0 0.011
HA(E 0.01UF
KT
A
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BRARE 1 3,200mg/kg by — = — —— p
[E%E : 150mg/kgllF]
EapaT | BRETOLEN Eapne |  wReTOLen

30m | w4 | NAVECTE P 30m | war | HVECTE P
7 | | gAoiE ahE W7 | =8 | BAOE e
(m) mg/kg (m) ma/kg
A3 |[A3-6| GL-0.24 290 E5-8 | GL-0.0 400
Cc3-3| GL-0.30 230 E5-8| GL-2.0 350
C3-4| GL-0.30 290 £ E5-9 GL-0.0 170
Cc3-5| GL-0.0 340 E5-9( GL-2.0 200
c3-5| GL-0.30 3200 E6-2| GL-0.0 280
< c3-6| GL-0.0 170 E6 |E6-2| GL-2.0 350
C3-6 [ GL-0.30 1,200 E6-3 | #RE L£-2.0 230
c3-7| GL-0.30 170 F2 | F2-4| GL-0.0 1,400
c3-8 | GL-0.30 340 F3 |F3-8| GL-0.0 170
ca-4| GL-3.3 530 Fa-1| GL-0.0 180
“ c4-5| GL-3.0 550 F4-1| GL-2.0 190
D4-1| GL-2.0 290 F4-2| GL-0.0 240
D4 | D4-4| GL-2.0 560 F4-2 | #7 £-1.3 1,300
p4-7| GL-2.0 630 m Fa-2| GL-2.0 290
D5-1 [#%7& £-2.45 230 F4-4 | #5788 £-1.7 200
D5-2 | #E £-2.4 420 F4-7| GL-0.0 250
o D5-5| GL-0.0 540 F4-7| GL-2.0 250
D5-5 | #7& L-2.3 370 F5-1 | #%7& £-0.7 260
E3-5| GL-1.9 190 F5-1 | #%7@ £-2.0 300
E3 |E3-8| GL-1.9 260 F5-2| GL-0.0 280
E3-9| GL-1.9 260 F5-2 | #7 £-2.0 380
E4-8 | #7E L£-1.0 200 " F5-4 | #%7@ £-1.7 770
& E4-8 | GL-1.9 2,100 F5-5| GL-0.0 530
E5-2 | @ L-1.0 210 F5-7| GL-0.0 250
E5-4 | GL-2.0 380 F5-7 | #7& £-1.9 310
£ E5-5| GL-2.0 180 F6 | F6-1| GL-0.0 350
E5-7 | GL-2.0 880 HAE(E 1500 F
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TIEFHERENESXE @ 12XEH

BAEE : 0.062mg/L E : = : : .
[ : 0.01mg/LATF]
. ‘ MERVZDIEEY
2o §g‘ ;té%%ﬁgg BHE
mg/L

D4 |D4-8| GL-9.8 0.011

E3-4 GL-1.9 0.013
E3

E3-7 GL-1.9 0.013
E4 |E4-9 | #®&EL-4.0 0.017

E5-4 | #%7& £-4.55 0.028
E5 | E5-5 GL-0.0 0.012

E5-8 | #K& £-2.15 0.016
E6 |E6-3 | #&E L-2.0 0.024

F4-1 | ##&L-1.3 0.062
F4 | F4-1 GL-2.0 0.013

F4-2 GL-2.0 0.035

F5-1 | #H&L-1.4 0.012
™ F5-2 | ##&L-2.0 0.042

HEE 0.01AF - -
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A B c D E .
BRANEE :4.0mg/L — e —
TR e
[E# . 0.8mg/LELTF] il ? |
— — . B |
| mmonz [poRRUTOLEN | mmonz [poRRUTOLEN : : I §
30m | sz [npECE — 30m | asr [ npECE — - : |l
1®F | @ | BProhE A 187 | XE | SRS At ﬁ
(m) ma/L (m) mg/L
A3 |A3-6| GL-0.0 2.7 E6-2| GL-0.0 1.1
B2 [B2-6| GL-0.0 2.6 E6 [E6-2| GL-2.15 0.89
ca-4| 6L-3.3 1.6 E6-3|#®EL-2.0 1.6
c4 |ca-5[ GL-3.0 1.8 F2 [F2-4| 6L-0.0 1.9
C4-9| B L-2.6 1.3 F3 |F3-8| GL-0.0 1.1
D5-1 %&ﬁf 3.9 F4-2| GL-0.0 1.0
D5-2|#E £-0.7 1.4 I ] e s 1.3
o5 |P52| 2.4 4.0 F4-7 GL-0.0 0.91
D5-5| GL-0.0 2.5 F4-7 | W L-1.7 1.7
D5-5|#E £-2.3 0.94 F5-1|#7& £-0.7 1.0
D5-6|#&E L-2.2 1.2 F5-1|#& £-2.0 0.95
E3-5| GL-1.9 1.2 F5-1 (w7 E-1.4 1.3 : e :
E3-7| GL-1.9 0.97 F5 [Fs-2| GL-0.0 0.86 NG A/ \*\ Sl
® 58] oiis 1.2 F5-4| W& £-1.7 2.5 \_- 'ég,,;,:/,/l//{/y/ oy \f =
E3-9[ GL-1.9 0.92 F5-7| 6L-0.0 0.96 S S E— T T : \‘__\,\__, _ M
E4-8| 78 £-4.0 1.0 F5-7 | £-1.9 1.5 5 : \f_ %
= E4-8| GL-1.9 3.1 F6-1| GL-0.0 1.6 : \@\\4
— F6 — N
E5-3|#®mL-0.7 1.3 F6-2[ GL-0.0 1.1 RN 7
Es-a| Pl 1.2 S 0.8 F
E5 |E5-7|#®EL-2.2 1.3 Log & ) & 8 | 8 B
E5-8| GL-0.0 1.8 6

 HERHERERNESXE



SoRRUZOLAY BEREAK

TEESAEEAETEARE : 1RE

RAERE @ 4,700mg/kg — —
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30m | Edfi [FROETNN
U TSR oA 558
B @ | mm)

mg/kg

E4 |E4-8| GL-1.9 4,700
(B 4,000L4F
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[E¥# : 1,000pg-TEQ/gAF]

AL AFS
W | SR [FROBTNECEFROME (m) e
&26=

Pg-TEQ/g

D5 D5-2 |RiFEEDIEE (8% .L-0.7m) 1,200
% 7L — 8 (GL-0.0m)

2 7L — B (GL-0.0m)

E6 E6-3  |IBsikeEss(Ra o) oiEsE(GL-0.0m) 1,500
|IE}3F7J<?ﬁ§E§(i§“<é?FEH)@i&{%(GL-O.Om)
|IEI}3F7k%§3§(5§37ﬁﬂ)§)0)ﬁﬁ(6b0.Om)

F5-1 |IEI11ETEEE-.‘ (RTEL-0.7m) DS 11,000
|§§%/§r§au (GL-2.0m)
|IE}§7J<$§(%&?§L-2.0m)0)i&1%

F5-1 |th@3§($&§:-1.4@@5&4§ 7,200
|@TEE“§(?&%J:—1.4m)G)ﬁ1%
|IE}§7J<$§(%&?§L-2.0m)0)i&1%
|IE}§7J<$§(%&?§L-2.0m)0)i&1%

[ (GL-2.0m)

F5 F5-2 |IEI}§7J<$§(%&§J:—2.0m)G)ﬁ1% 5,500
[ (GL-2.0m)
|IEI/§7J<$§(?&§J:—2.0m)0)ﬁ1%
|th@3§($&§:-1.7@@5&4§
[pesemmEs (GL-2.0m)

F5-4 |@TEE“§(?&%J:—1.7m)G)ﬁ1% 3,500
[ (GL-2.0m)

[z (GL-2.0m)
F5-5  [smmmes (6L-2.0m) 4,000

EAEfE 1,000




